RESOLUTION NO. <u>O3-/4</u> CITY OF CENTERVILLE, OHIO

SPONSORED BY COUNCILMEMBER <u>Faul Greslam</u> ON THE 17th DAY OF <u>February</u>, 2014.

A RESOLUTION ACCEPTING THE BIDS SUBMITTED BY MAW SPECIALIZED LAWN CARE SERVICES OF SPRINGBORO, OHIO AND O'HEIL DBA BUCKEYE LAWN AND LANDSCAPING OF DAYTON, OHIO FOR THE MAINTENANCE OF CERTAIN SPECIFIED CITY PROPERTIES DURING 2014 AND 2015 THROUGHOUT THE COMMUNITY AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO CONTRACTS IN CONNECTION THEREWITH.

WHEREAS, the City advertised for bidders for the maintenance of certain specified City properties during 2014 and 2015 throughout the community, pursuant to specifications prepared by the City; and

WHEREAS, MAW Specialized Lawn Care Services of Springboro, Ohio was the low and best bidder for Groups A, B, and C mowing, and Group B aerating, and

WHEREAS, O'Heil dba Buckeye Lawn and Landscaping of Dayton, Ohio was the low and best bidder for Groups A and C aerating,

NOW THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by MAW Specialized Lawn Care Services of Springboro, Ohio marked as Exhibit "A" for Groups A, B, and C for a total bid price of \$2878.00 per mowing and Group B for a total price of \$1365.00 for aerating, attached hereto and made a part hereof is hereby accepted.

Section 2. That the bid submitted by O'Heil dba Buckeye Lawn and Landscaping of Dayton, Ohio marked as Exhibit "B" for Groups A and C for a total bid price of \$6065.00 for aerating, attached hereto and made a part hereof is hereby accepted.

<u>Section 3.</u> That the City Manager is hereby authorized and directed to enter into any necessary contracts to evidence acceptance of said bids and to make payments pursuant thereto.

PASSED this 17th day of February, 2014. ATTEST: Clerk of Council, City of Centerville, Ohio **CERTIFICATE** The undersigned, Clerk of the Council of the City of Centerville, Ohio, hereby certifies that the foregoing is a true and correct copy of Resolution Number 03-14, passed by the Council of the City of Centerville, Ohio on the 174 day of February, 2014 Clerk of Council, City of Centerville, Ohio Approved as to form, consistency with existing ordinances, the charter & constitutional provisions. Department of Law Scott A. Liberman Municipal Attorney

EXHIBIT "A"

				EXH	IBIT "A"	
UNIT	PRICES	SHEET				Page 2 of 3
ρρΩ	IECT NA	ME: Lawn Mowing and Aerating 2014 - 2015				
100	LCITTA	PROJECT NUMBER:				
		CENTERVILLE MATERIAL AND CONSTRUCTI				
		REFERENCED FOR A MORE COMPLETE DESC				
LOIM	PLETED	COPY OF PROPERLY SIGNED PROPOSAL TOG	ETHER WI	THTHE	EXECUTED	ORMS.
REF.	PARCEL		EST'D		UNIT	AMOUNT
NO.	NO.	DESCRIPTION	QUANT.	UNITS	PRICE	BID
		MOWING				
		GROUP A - MOWING				
A	1	Rahn Road	27	EACH	79.00	2135.00
A	2	Whipp Road	27	EACH	22.00	594.00
A	3	Wilmington Pike	27	EACH	226.00	6102.00
		Feedwire Road (north side) and Wilmington Pike (north of			13000	01-01-0
		Feedwire) roadside (Optional in 2014 due to construction.			100	
Α	3(a)*	Shown in purple on map.)	10	EACH	60.00	600,00
Α	3(b)	Feedwire Road medians - add in 2015	27	EACH	2200	594.00
A	4	Clyo Road except Forest Brook Blvd	27	EACH	299.00	8073.00
Α	4(a)*	Forest Brook Blvd	8	EACH	101,00	808.00
A	5	Bigger Road	27	EACH	81,00	2187.00
		TOTAL FOR GROUP A - MOWING				21093.00
		GROUP B - MOWING				
В	6	Alex-Bell and Loop Roads	27	EACH	124.10	3348.00
В	7	Far Hills Avenue/ State Route 48	27	EACH	7.3.00	
В	8	South Main Street/ State Route 48	27	EACH	129.00	3483.00
В	9	Yankee Trace area	27	EACH	42.00	1134.00
В	13	Architectural Preservation District	27	EACH	254.00	6858-00
В	13C	APD public parking lot areas	27	EACH	67.00	1809.00
		TOTAL FOR GROUP B - MOWING			0 1 170	18603-00
		GROUP C - MOWING				
С	10	Stubbs Park - south section	25	EACH	819.00	20475.00
С	11	Stubbs Park - north section	20	EACH	480.00	The same of the sa
		TOTAL FOR GROUP C - MOWING	 		1717. 0	30075.00
						300.13.00
		AERATING				
		GROUP A - AERATING				
	1	Rahn Road	1	EACH	367,00	367.00
A	2	Whipp Road	<u> </u>	EACH	84.00	84.00
A	3	Wilmington Pike	1	EACH	5 65.00	565.00
A	4	Clyo Road (excluding Forest Brook Blvd)	1	EACH	1078.00	678.00
A	5	Bigger Road	1	EACH	197.00	147.00
		TOTAL FOR GROUP A - AERATING	-	EACH	1 1 1.00	
		I OTAL FOR GROUP A - AERA I ING				1991,00
		CROWN AFRAMIC	-			
		GROUP B - AERATING			7 = 1	
B	6	Alex-Bell and Loop Roads	1	EACH	35.0.00	
В	7	Far Hills Avenue/ State Route 48	1	EACH	242.00	242-00
В	8	South Main Street/ State Route 48		EACH	367.00	367-00

						Page 3 of 3
В	9	Yankee Trace area	1	EACH	96.00	96.00
В	13	Architectural Preservation District	1	EACH	726.00	226-00
В	13C	APD public parking lot areas	1	EACH	84.00	84.00
		TOTAL FOR GROUP B - AERATING				1365.00
		GROUP C - AERATING				
С	10	Stubbs Park - south section	1	EACH	3000 -00	3000.00
С	11	Stubbs Park - north section	1	EACH	1225.00	1225.00
С	12	City Owned Properties	1	EACH	480-00	480.00
		TOTAL FOR GROUP C - AERATING				4705.00
	* Items	are OPTIONAL items. The City may include performa	nce of sa	id work o	lepending on ne	eds.
CONT	FRACT P	REPARATION INFORMATION				
Address of the latest owner, the		supplement the proposal by supplying the following information	for use in th	ne preparat	ion of the Contract.	
		MAW SPECIALIZED LAN				1010
COMI	PANY:	1 <u>-</u>	NN C	ARE	DEKVICES	INC.
BY:		DAVID CURRENT				
TITLE	E:	GENERAL MANAGER				
ADDI	RESS:	227 S. PIONEER BLUD				
		SPRINGBORD OH 450	66			
PHON	NE:	(937) 704-9297				
FAX:		(937) 550-4456				
FEDE	RAL TAX	ID:				
				+		
EXE	CUTION	OF PROPOSAL		-		
NOTE	E: Failure	to sign the proposal shall result in rejection of the bid.		-		-
THIS	PROPOSA	AL SUBMITTED BY: MAW SPECIALIZE	O LA	WN CA	RE SERVI	ES INC.
aras i	477100	NAME OF CONTRACTOR				
	ATURE:	2/5/2014				
Conta		For contract processing: MARK A. WILL	IAM.	5		
		if different from above:				
AIGHI	ig adult C33	AS WILLIAM VINE ALVIII MOVING	1			

				EXH]	BIT "B"	<u> </u>
TINU	PRICE	SHEET				Page 2 of 3
000		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1				
PRO	JECT NA	ME: Lawn Mowing and Aerating 2014 - 2015 PROJECT NUMBER:			<u> </u>	
-		PROJECT NUMBER:				
THE	CITY O	F CENTERVILLE MATERIAL AND CONSTRUCTI	ON SPECIE	ICATIO	NS ARE PART	OF THIS PROPOSA
		REFERENCED FOR A MORE COMPLETE DESC				
COM	PLETEI	COPY OF PROPERLY SIGNED PROPOSAL TOG	ETHER W	тн тні	E EXECUTED I	FORMS.
ODD	21202		EST'D			AL COVER THE
NO.	PARCE NO.		QUANT.	TINITS	UNIT	AMOUNT
INO.	110.	MOWING	QUALTI.	OMI	1111011	
_		GROUP A - MOWING			4	
A	1	Rahn Road	27	EACH	140	3,780
A	2	Whipp Road	27	EACH	50	1.350
A	3	Wilmington Pike	27	EACH	280	7.560
л			21	LACII	~ 00	1,7,0,5
		Feedwire Road (north side) and Wilmington Pike (north of Feedwire) roadside (Optional in 2014 due to construction.				
Α	3(a)*	Shown in purple on map.)	10	EACH	120	1,120
A	3(b)	Feedwire Road medians - add in 2015	27	EACH	150	4.050
A	4	Clyo Road except Forest Brook Blvd	27	EACH	525	14,115
A	4(a)*	Forest Brook Blvd	8	EACH	420	3,360
Α	5	Bigger Road	27	EACH	10	1,890
		TOTAL FOR GROUP A - MOWING				37.285
		GROUP B - MOWING				
В	6	Alex-Bell and Loop Roads	27	EACH	140	3, 180
В	7	Far Hills Avenue/ State Route 48	27	EACH	150	4 050
В	8	South Main Street/ State Route 48	27	EACH	150	4.050
В	9	Yankee Trace area	27	EACH	50	1,350
В	13	Architectural Preservation District	27	EACH	225	4,075
В	13C	APD public parking lot areas	27	EACH	80	2.16 D
2		TOTAL FOR GROUP B - MOWING				21,465
		GROUP C - MOWING	1			
С	10	Stubbs Park - south section	25	EACH	1015	25,625
С	11	Stubbs Park - north section	20-	EACH	500	10 000
		TOTAL FOR GROUP C - MOWING				35, 625
	-		ì		_	
		AERATING				
		GROUP A - AERATING				
Α	1	Rahn Road	1	EACH	32.5	325
A	2	Whipp Road	1	EACH	75	75
A	3	Wilmington Pike	1	EACH	515	575
A	4	Clyo Road (excluding Forest Brook Blvd)	1	EACH	215	215
A	5	Bigger Road	1	EACH	200	200
		TOTAL FOR GROUP A - AERATING				1,390
		GROUP B - AERATING				
В	6	Alex-Bell and Loop Roads	1	EACH	650	650
В	7	Far Hills Avenue/ State Route 48	1 1	EACH		200
В		South Main Street/ State Route 48	1	EACH	200 H15	415
D	٥	Soun Main Succo State Route 40	+	LACH	-172	127

				, - · · · · ·		Page 3 of 3
В :	9	Yankee Trace area	1	EACH	85	85
В	13	Architectural Preservation District	1 1	EACH	200	200
В	13C	APD public parking lot areas	1	EACH	75	75
	-	TOTAL FOR GROUP B - AERATING				1,635
		GROUP C - AERATING				
С	10	Stubbs Park - south section	1	EACH	3,000	3.000
С	11	Stubbs Park - north section	1	EACH	1,225	1.22 5
С	12	City Owned Properties	1	EACH		450
_		TOTAL FOR GROUP C - AERATING		-		4,675
•	tems	are OPTIONAL items. The City may include perform	nance of s	aid work de	epending on nee	eds.
CONTI	RACT P	REPARATION INFORMATION				WO CO-
		supplement the proposal by supplying the following information	on for use in t	he preparation	on of the Contract	
		supplement the proposal by supplying the following intermative	on lot age in		, or the continue	
COMPA	ANY:					
BY:						
TITLE:						
ADDRI	ESS:					
PHONE	 ∃:					170
FAX:						
FEDER	AL TAX	ID:				
EXECT	UTION C	DF PROPOSAL	52			
		to sign the proposal shall result in rejection of the bid.				
	ROPOSA	L SUBMITTED BY:				
THIS P		A				
THIS P		NAME OF CONTRACTOR	***	1 3		
	TURE:	NAME OF CONTRACTOR		-		
		Und hile				
SIGNA		Und hile	20	2		